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DIRECTIONS TO CANDIDATES:

e Write your solutions in ink.

e Approximate marks are shown in each question. Marks may be
adjusted slightly during the marking process if necessary.

* All working should be shown in every question.

o Full marks may not be awarded for careless or badly arranged
work.

e Approved calculators may be used.

e Each question attempted is to be started ON A NEW PAGE,

clearly marked with the number of the question and your name
and class on the top right hand side of the page.
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Question 1 (7 marks)
a) Solve 2sin 4 =+/3 for 0°< A <360°

b) State the domain for y = @
x —_

c) Sketch the region where y < 4-x’

d) i) Sketch y=|x+4],-5<x<1

i) Hence or otherwise, write down the solution for ]x + 4] =-X
Question 2 (7 marks) START A NEW PAGE
a) Find the exact value of sec60°

b) In the diagram AB = AC and AB || DC
Giving a reason for each step, find the value of x.
A

xO

65°

¢) Find the exact solution of tan® 4—3 =0 if 0°< 4 <360°



Question 3 (7 marks) START A NEW PAGE
The points A (-3, 6), B (-6, 0) and C form a right angled triangle with the right
angle at A. The point C is on the y axis.

a) Draw a neat sketch showing this information.

b) Find the exact length of AB.

c) Find the slope of AB.

d) Find, in general form, the equation of AC (do not attempt to
find the y intercept yet)

e) Hence find the x and y intercepts of the line through A and C.

Question 4 (7 marks) START A NEW PAGE
a) y={(x) has been drawn for x > 0
y
A
y = fx)
> X

i) Copy the diagram and complete the graph of y = f(x)
if f(x) is an EVEN function

1) Copy the diagram and complete the graph of y = f(x)
if f(x) is an ODD function

b) Sketch the region defined by the inequations x+ y <1 and x+ 3y >0

2
c) Prove that —&Q = cot’ @
(1-cos@)(1+cosbH)




Question 5 (7 marks) START NEW PAGE

a) If tan 4 = -2 and cos 4 <0 find the exact value of sin 4
A
b)
75°
7m 10m
B C

1) Find the length of BC to the nearest cm.
i1) Find the area of A ABC (in m? to 2 dec. places)

Question 6 (7 marks) START A NEW PAGE

a) Lines AD and BC intersect at X. Prove that AB is parallel to CD.
D

b)

1) Use the sine rule to find the value of /

correct to 1 decimal place.
400 m

i1) Use this value of / to find the value of

h correct to 1 dec. place.
/m
60°
50° J




Question 7 (7 marks) START A NEW PAGE

a) Determine the sum of the interior angles of a regular polygon if each exterior 2
angle is 24°.
b) 1) From sin® @ +cos® @ =1 obtain another Pythagorean Identity for 2

cosec’d (show your reasoning clearly).

11) Hence simplify 1-cot® @ +cosec’0 1

C) Find the equation of the line which is parallel to the line 2x-5y+3=0 2
and contains the point (1, 4).

Question 8 (7 marks) START A NEW PAGE

a) 5

N A pilot flies out from the airport on a bearing which
4 X is roughly a bit north of east for 100 km to point P.
She then turns due north and flies for 80 km to
point X. At this point she is exactly 150 km from

150 80 km the airport.

P 1)  Calculate the bearing to the nearest minute on
which she must fly to return directly to the

100 km »E airport.

Airport

ii) Write down the bearing of point X from the
airport.

b) 2

AD, XZ, AB and BC are straight lines. Find an expression for x in terms of @, b and c.

End of Test
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